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uksV % lHkh ik¡p iz’uksa d¢ mŸkj nhft,A izR;sd bdkbZ ls ,d iz’u djuk 

vfuok;Z gSA lHkh iz’uksa d¢ vad leku gSaA 

 Attempt all the five questions. One question from each 

Unit is compulsory. All questions carry equal marks. 

bdkbZ&1 

(UNIT—1) 

1- dkyZ ekDlZ dh vfrfjDr ewY; dh vo/kkj.kk dks Li”V dhft,A 

Explain the concept of Karl Marx’s surplus value. 

vFkok 

(Or) 

vyxko fdls dgrs gSa \ bldh fo’ks”krkvksa dks Li”V dhft,A 

What is Alienation ? Bring out the characteristics of 

Alienation. 
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bdkbZ&2 
(UNIT—2) 

2- vkS|ksxhdj.k dh izfØ;k esa Lrjhdj.k dh D;k Hkwfedk gS \ Li”V 

dhft,A 

Define the role of stratification in Industrialisation process. 

Clarify. 

vFkok 

(Or) 

vkS|ksxhdj.k dh izfØ;k esa ifjokj dk D;k egRo gS \ 

Describe the importance of family in Insustrialisation 

process. 

bdkbZ&3 

(UNIT—3) 

3- dk;Z esa ekuoh; laca/kksa dh vo/kkj.kk dks le>kb,A 

Explain the concept of human relation at work. 

vFkok 

(Or) 

laxBu dh vo/kkj.kk dk mYys[k djrs gq, blds dk;ks± dk o.kZu 

dhft,A 

Describe the concept of Organization and its functions. 

bdkbZ&4 

(UNIT—4) 

4- vkS|ksfxd laca/kksa ds dkj.kksa dk mYys[k dhft,A 

Explain the causes of Industrial Relations.  
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vFkok 

(Or) 

vkS|ksfxd laxBu esa Je la?k dh D;k Hkwfedk gS \ 

What is the role of Trade Union in Industrial Organization. 

bdkbZ&5 

(UNIT—5) 

5- efgyk ,oa cky Jfed ij ,d fucU/k fyf[k,A 

Write an essay on women and child labour. 

vFkok 
(Or) 

i;kZoj.kh; eqís dh vo/kkj.kk dks Li”V dhft,A 

Bring out the concept of Environmental Issues. 
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